ZINF—L—EE

175

EEAE LT 4—R F =7
No| F — &4 | AEEL [ # X | AE| [No| F — &4 | REEL | X (K
1 |[SUTO-N B A | BT | 4 1 |3E—=2 2R R R X 4
2 |PHEITTT K & A =X 5 2 |lrevel K& v S Eaf| 4
3 |LEGO PARSSF|E R X 4 3 |vau~vA o R FEE R X b
4 |Kyoto AITRESET [ R X 4 4 [Dual i Tl K| 4
17 5 |LIGARE fr B OB PR R 5
6 |gout friends A |& J& 1 &k|rg x| 6
7 |gout friends B |& & A #&|rfd X[ 6
71— 8 |Ued b 3+ [FIRJIAT (18 5t X| 4
No| F — x4 | REEZ4 | K |AEKl |9 ATy T TR el 'K 4
1 |[Goo NFR B E[E K] B 10|TSI-B B A RRAE X 4
5 11|NGS KW % 2| B X[ 6
12|Scarlet7|®EMEF KK 4
I3|GOTCHA oo E E|H o X 4
ARV 14 [REY 27— |fa I B RIR R IX| 5
No|l F — & 4 | RFEL | M X | A | 16 [RE T —F A & H KR /X 7
1 |Freestyle = kyoto [#d JII HiI|Z = X| 6 16 [RABIGONS |4 H F& z|/£ K K| 4
2 |Le Petit Bonheur [T #f P& K| & X| 4 17 [Rk—&bi2H Bk s il X| 8
3|Y¥ v ARSVC B 1 3 EEMET| 5 84

15

IV N—
A A No|l F — &4 | R&EEFL | H XK |AK
No| F — &4 | REEL | X | A%l | 1 IMORE E9] 'l & K| 4
1 |For You |MAKEE|R B 2| 8 2 |%& BRSO X 4
2 |Av AL ] H & ZF| g 8 3|TS1I B A e X[ 5
3 INVBC GHIZAE N EE ST o I 4 | B AZ—Fh hn g A2 5L B X[ 8
4 |Vx U ARSVC |fid H I KRR 6 5 |y ARSVC B 0 3 E|EMAT| 5
28 26




BER FE

Scarlet? TS I1-B
| | 1 1
T T | |
NGS FNTFo7
1 1 | |
IS uUuT O-IN olut fr'ends: B
r‘f: | | 7 6 5 4 gl I I
“ I I T T
o DHREVTT gout friends A
| | s s
I I — I
Il(yotlo l,lwb\utI3+ o
T T T T % @
ILEGOI L1 GARE @
< | Goo | ZIK Dual
X st = —
> JyvESVC A 1 2 3 vavvA
| | I I
T T F%_ 1 1
Le Petit Bonheur revel oo
& : : : : T o
I Freestyle * kyoto 3E—X > =
| | I I
BER AH —
— A
nAY A
)L /N— 8
4 _
S22l
LN




77—

1 F—2BMD4, KERE

F—T UL AECTEIRE 2y Py v T Va— AL

FEIEAL 1. 2. 3. 4f%
FEIEN. 5. 647 1R RE

. ARV

Yo ) — 2RI TR

NEAZA b —F A > |k

FD%, A—T L DNEALE] b —TF A > M

. S)LN—

V.V

R U — 7 BRI TIRERIRE

L =T

TEIRE2TY h~vF

TREIEA 1. 2. 3. 4ff
TENEALS. 647 13H

D%, 5 h—TF A MTTRERE

Va— AL

NEAZH b —T Ak



TR —r kK
7Y —=(1F—2)

1= (2a—1)
A |Goo

LN — (5 F— L)

3= (72—1h)
A ¥

B |TSI

C |IAT—F

D IMORE

E [y ASVC

hEEE LT =R (AT —L)

5/ — (2« 6a—1])
A |[LEGO

B [SUTO-N

C |[IKyoto

D |2khE7TT

F =7 (17F—21)

ARV T (3T —2D)

2/ —2(4=23—1h)

A |Freestyle * kyoto

B [¥v¥»ARSVC

C |Le Petit Bonheur

AV (4T — L)

4 —(8a—1)

A [y ARSVC

B INVBC

C | A=A

D |[For You

6/ —» (2-53—F) 7/—v (5-63—F) 8/—> (3-4=—F)
A |[GOTCHA A |[vav~Ag A |REY 284 —
B |gout friends A B [RABIGONS B [3t—x
C |Dual C ILIGARE C |Scarlet?
D |[TSI-B D [RE T ¢ —F A D [Uo2d 3+
E |’k—&bi2b E |ALTFroT E |INGS
F |gout friends B F [revel




Y — 7
H1a—Fh H2a—h 3 a—Fh a4 a— R
& T — e A =T XX F =7 ARVT « =T
1.5.6— 8 — 28—

N2 A H] FAHE H) A Hf] A |
1 - 5A - 5D 5C 8A - 8B 8D 2A - 2B 2C
2 - 1A - 6A 6C 5B - 5C 5D 8F - 8C 8E
3 - 5A - 5C 5B 8E - 8D 8A 2A - 2C 2B
4 - 6A - 6C 1A 8B - 8D 8E 8A - 8C 8F
5 - 1A - 6B 6C 8F - 8E 8B 2B - 2C 2A
6 - 1A - 6C 6A 8C - 8E 8A 8B - 8F 8D
7 - 8A - 8D 8C
8 - 1:6-161 - 2-21 | 2-9 | 8-31fu - 7-44L |1-6D34i| 2-3{L - 8-44f | 4-9
9 - 8-14iL - 7-24i | 2-8F |1-6-3ff -  3-8ML| 3-8 | 7-3{i - 1-6-4fi 4-88&
10 - 2-8fb -  2-9Mb| 2-98 - 4-8fL -  4-9b| 4-98

2-10% 3-98
11 - 2-10Bb -  5-11Hb - 39 -  4-10BB
5-118 4-108
53—k H6 a2— |k /7 a— Rk H8a— |
=T EEEX - F—T L N— RV =75 - 6141
67— 5+ 7Y—r 3V —r 4 —

N RS HH) o S| e | A |
1 6D - 6C 6B 7A - 7B 7D 3A - 3B 3E 4A - 4B 4D
2 7E - 7D 7A 7F - 7C 7B 3D - 3C 3B 4D - 4C 4A
3 6E - 6B 6D 7A - 7C 7F 3E - 3A 3D 4A - 4C 4B
4 7B - 7D 7C 7F - 7E 7A 3C - 3B 3A 4B - 4D 4C
5 6E - 6D 6A 7C - 7E 7B 3D - 3E 3C 4A - 4D 4B
6 7A - 7D 7E 7B - 7F 7C - 4C - 4B 4A
7 6B - 6D 6E 5D - 5B 5A - -

8 6A - 6E 6B - - -
9 2-11{i - 8-2fi = 5-10 | 5-14i - 5-44f | 6-10 | 3-3{x - 3-5f1 | 7-10 [1-6-5f1 - 7-64i | 8-10
10 | 7-14x - 1-6-2{i| 5-98 | 5-2{i - 5-3fL | 6-98 | 3-21i - 3-4fL | 7-98 | 7-51% - 8-61i  8-9&
11 |5-10B - 5-9fb 5-10f|6-105 -  6-9b6| 6-108 | 3-11i - 7-9b 7-108 | 8-5ff - 1-6-6fi 8-108
12 - - 7-108 - 7-11s| 7-118 -
a— ¥
H7 2= #6 =2— |k H5=—h F4a—h
A A2 4 H A 4
S FH1a—h %“2\:1\~F H3a—hk
54 = vy 54 =
AH
AHd
Ttk B8 a—k
ANR— A 2 A a




NEAZR] b —TF X > R FE MiOBEE o — PR %ADOKFITRASIEL £
DF— MEEH AT T

EEAEET LT 4— X 6 =2— b
5 — 3L
6-2 5 —r 2/r
LN — 3 a— h
3V —4ff
3V — 54
-3 3V —r 14
TV = ARVT «F—=T 1 2T N—"T 2+ 5a—kh
8 — 24L
7Y — 2 24
2-3 1-6Y—r 14
2-1 2 —1 2
TY— e ARVY « F—TF2 3 AT N—T 34— |
8V — 4L
4d 4-1 2 — 340
7= AN
372 1+ 6Y—>r3{r
TV — e F—72 56 \iZ)N—T 8 21— |
7Y — 261
8 — 6L

1+-6Y—261L




